



**Himachal Pradesh
Public Works Department
HP.PWD Division Bhawarna, Distt. Kangra (H.P)-176083
Tel:01894-247777, e-mail Id: eepwd-bhaw-hp@gov.in**

"NOTICE INVITING TENDERS"

Sealed percentage rate tenders on form 6 & 8 are hereby invited by the Executive Engineer, Bhawarna Division HP.PWD, Bhawarna on behalf of the Governor of H.P for the following works from the approved and eligible contractors enlisted in HP.PWD, (B&R) whose registration stood renewed as per revised rules and also registered under the H.P General Sales Tax Act 1968 so as to reach in his office on or before **09-09-2025** up to 11.00 AM. and the same shall be opened on the same day at **11.30 A.M.** in the presence of intending contractors or their authorized representatives. The tender documents can be had from his office against cash payment (Non-refundable) on **08-09-2025** up to **4.00 P.M** and the application for issue of tender form shall be received on **08-09-2025** up to **1.00 PM**.

The earnest money in the shape of NSC/FDR/saving account of the Post office/Bank in H.P duly pledged in favour of the XEN must accompany with each tender. Conditional/ incomplete tenders & tender without earnest money will be summarily rejected. The XEN reserves the right to accept or reject any or all tenders or drop the proposal of tenders without assigning any reasons.

Sr. No.	Name of Work	Estimated Cost	Earnest Money	Time Limit	Cost of Tender form
1	Restoration of rain damages on Badghwar to Kural via Badian road (SH:- C/O R/Wall at RD. 0/730 to 0/738) (Deposit work)	1,98,574/-	4000/-	Three months	350/-
2	C/O Culvert at Ram Nagar Nagar Colony Village Ballah Connecting Repur Tea-estate to NH-154 (SH:- C/o 2.00 mtr Span approaches at RD. 0/320) (DC Deposit)	3,99,599/-	7900/-	Three months	350/-
3	C/O Link road from Nanaon to Kandekha Matt km. 0/0 to 0/690 (SH:- Both side E/Wall in km. 0/245 to 0/246.50, Soling & CC pavement in km. 0/220 to 0/387) (Deposit work)	4,96,283/-	10000/-	Three months	350/-
4	Restoration of rain damages on Naura Kiarwan road (SH:- C/O R/Wall at RD. 1/802 to 1/811.40) (Deposit work)	2,54,511/-	5100/-	Three monhs	350/-

Terms & Conditions:-

1. The contractor/firm should be registered as or dealer GST No.
2. The intending contractor/firm has to produce the copy of latest enlistment and renewal enlisted in HP.PWD.
3. If any of the date mentioned above happened to be Gazetted Holiday the same shall be processed on next working day.
4. The Executive Engineer reserves the right to accept/reject any tender/application or all tender without assigning any reason.
5. The contractor will have to submit affidavit along with application for issue of tender that he has not more than two works in hand.

Executive Engineer
Bhawarna Division
HP.PWD Bhawarna

On behalf of Governor of Himachal Pradesh

Dated:- 29/8/2025

No. PWD/BWD/T/A/NIT/2025-26/ 5865-5924
Copy is forwarded to the following for information and necessary action:-

1. The Chief Engineer (KZ), HPPWD, Dharamshala.
2. The Superintending Engineer, 5thCircle, HPPWD, Palampur.
3. All the Assistant Engineers under this Division.
4. The Computer Cell office of the Engineer-in-Chief, HPPWD, Shimla as the works mentioned in the tender Notice are of urgent nature and in public interest, the same may be uploaded on the departmental website.
5. The Drawing /Accounts Branch in this office.
6. Notice Board.

Executive Engineer,
Bhawarna Division,
HP.PWD. Bhawarna.



Himachal Pradesh
Public Works Department
HP.PWD Division Bhawarna, Distt. Kangra (H.P)-176083
Tel:01894-247777, e-mail id: eepwd-bhaw-hp@gov.in

CERTIFICATE

Certified that tender of works are being called of an emergent nature and for larger public interest so there is exigencies/ emergency in calling these tenders without press vide this office letter No. PWD/BWD/TA/NIT/2025-26-
5865-5924 dated: 29/08/2025.


Executive Engineer,
Bhawarna Division,
HP.PWD. Bhawarna.

Schedule of Quantity

Name of Work:- Restoration of Rain damages on Badghwar to Kunj Via Badian road (SH:- C/o R/wall at RD 0/730 to 0/738)
(Deposit work)

Estimated Cost :- Rs 1,98,574/-
Earnest Money :- Rs.4000/-
Time Limit :- Three Months

S. No	Description of Item	Quantity	Rate		Unit	Amount
			In figure	In Words		
1	Earth work in excavation for foundation of structure such as retaining walls, breast walls, culverts, drains and parapets etcetera in all type of classification of soil comprising of ordinary soil, ordinary rock, hard rock chiseling /wedging out rocks (Where blasting is prohibited) as per drawings and M.O.R.D. technical specification section 300 and 1600 as per direction of the Engineer- In – Charge including setting out, shoring and bracing , removal of stumps and other deleterious materials and disposal of materials upto any lead and upto any lift including dressing of sides and bottom and back filling in trenches with excavated suitable approved material to the original surface in layers not exceeding 150mm (one hundred fifty millimeter) compacted thickness of each layers including shoring and strutting and pumping and bailing out water (surface and sub soil water) upto any depth and any quantum of water including cleaning of slush which may arrise out during dewatering as per entire the satisfaction and the direction of Engineer-in-Charge Including carriage of materials within all leads, lifts and other incidental . The rate is including octroi, royalty, Malkana, toll tax, sale tax, GST or other taxes imposed by the Government.	33.70	250.00	Rupees Two Hundred Fifty Only	Per Cubic metre	8425.00
2	Providing and laying mechanically mixed and vibrated concrete for plain/ reinforced concrete in open foundation for all type of structure complete of plain cement concrete nominal mix 1:3:6 (One cement : three sand : six graded crushed/ broken stone aggregate 20mm (twenty millimetre) nominal size on ground or under water and curing complete including pumping or bailing out water , dewatering removal of slush as required at site which may arrise at the time of laying concrete complete for all heights/ depths including the cost of form work as per drawings and M.O.R.D technical specification section 800, 900 and 1200 as per the direction of the Engineer-in-Charge . Including carriage of material within all leads and lifts and other incidental . The rate is including octroi, royalty, Malkana, toll tax, sale tax, GST or other taxes imposed by the Government.	3.28	4500.00	Rupees Four Thousand Five Hundred Only	Per Cubic metre	14760.00
3	Providing and laying mechanically mixed and vibrated concrete for plain cement concrete in sub-structure for all type of structure complete of plain cement concrete nominal mix 1: 2 ½ : 5 (One cement : two point five sand : five graded crushed/ broken stone aggregate 20mm (Twenty millimetre) nominal size) on ground or under water and curing complete including pumping or bailing out water , dewatering removal of slush as required at site which may arrise at the time of laying concrete complete for all heights/ depths in abutments etcetera and the like including the cost of form work as per drawings and M.O.R.D. technical specification section 800, 900 and 1200 and as per direction of Engineer-in-Charge Including carriage of material within all leads and lifts and other incidental . The rate is including of octroi, royalty, Malkana, toll tax, sale tax or other taxes imposed by the Government.	1.89	5500.00	Rupees Five Thousand Five Hundred Only	Per Cubic metre	10395.00

4	Providing and laying mechanically mixed and vibrated plain cement concrete in open foundation for all type of structure complete of plain cement concrete nominal mix 1:5:10 (One cement : five sand : ten graded crushed/broken stone aggregate 20mm (twenty millimeter) nominal size including curing complete in parapets and the like etcetera including the cost of form work as per drawing and M.O.R.D technical specification clause 802, 803, 1202 and 1203 as per the direction of Engineer-in-charge including carriage of material within all leads and lifts and other incidental. The rate is including octroi, royalty, malkana,toll tax, GST or other taxes imposed by the Government.	37.52	4000.00	Rupees Four Thousand Only	Per Cubic metre	150080.00
5	Providing and laying 100mm dia (One Hundred millimetre) diameter P.V.C. pipe weep holes in brick masonry/stone masonry, plain/reinforced concrete abutment, wing wall, return wall and retaining/breast walls through the full width of the structures with slope of 1(V): 20 (H) (one vertical: twenty horizontal) towards draining face complete as per drawing and M.O.R.D. technical specifications clause 709 and 1206.6 and as per the entire satisfaction and direction of Engineer- in-Charge including carriage of materials within all leads and lifts and other incidental . The rate is including octroi, royalty, Malkana, toll tax, GST or other taxes imposed by the Government.	21.00	250.00	Rupees Two Hundred Fifty Only	Each	5250.00
6	Back filling with granular material behind abutments, wing walls, return walls complete and retaining walls complete as per drawing and MORD technical specifications clause 1203 and 1604 and as per the entire satisfaction and direction of Engineer-in-charge including carriage of material within all leads and lifts and other incidental. The rate is including of octroi, royalty, Malkana, toll tax, sale tax, GST or other taxes imposed by the Government.	11.92	600.00	Rupees Six Hundred Only	Per Cubic metre	7152.00
7	Construction of embankment for road way with approved materials from borrowpits , or other sources in layers of suitable thickness not exceeding 200mm (Two hundred millimeter) thick each layers and compacted with 80-100 (Eighty - Hundred) K.N static/ vibratory road roller to meet the requirement of table 300.1 and 300.2 of technical specifications to lines, grades, levels and cross sections as per Drawings or direction of the Engineer-in-Charge to Technical specification clause 301 and other relevant clauses including preparation of foundation for embankment in all kinds and classification of soils including saturated soil and dewatering/ bailing out of water where ever required including handling of material for construction of embankments within all leads and lifts. The rate shall include carriage of machineries, equipments, tools and materials and safety measures payment of all taxes, octroi royalty, GST and other incidentals necessary to complete the work in all respects.	12.56	200.00	Rupees Two Hundred Only	Per Cubic metre	2512.00
Total :-						198574.00
	Quoted rates percentage in figures					
	Quoted rates percentage in words					


 Executive Engineer
 Bhawarna Division
 HP PWD Bhawarna

Schedule of Quantity

Name of work:- C/o Culvert at Ram Nagar Colony Village Ballah Connecting Repur Tea-estate to NH-154 (SH:- C/o 2.00 mtr Span Approaches at Rd 0/320). (DC Deposit)

Estimate Cost :- Rs. 3,99,599/-
Earnest Money :- Rs. 7900/-
Time Limit :- Three Months

S. No	Description of Item	Quantity	Rate		Unit	Amount
			In figure	In Words		
1	Earth work in excavation for foundation of structure such as retaining walls, breast walls, culverts, drains and parapets etcetera in all type of classification of soil comprising of ordinary soil, ordinary rock, hard rock chiseling /wedging out rocks (Where blasting is prohibited) as per drawings and M.O.R.D. technical specification section 300 and 1600 as per direction of the Engineer-in-Charge including setting out, shoring and bracing , removal of stumps and other deleterious materials and disposal of materials upto any lead and upto any lift including dressing of sides and bottom and back filling in trenches with excavated suitable approved material to the original surface in layers not exceeding 150mm (one hundred fifty millimeter) compacted thickness of each layers including shoring and strutting and pumping and bailing out water (surface and sub soil water) upto any depth and any quantum of water including cleaning of slush which may arrise out during dewatering as per entire the satisfaction and the direction of Engineer-in-Charge Including carriage of materials within all leads, lifts and other incidental. The rate is including octroi, royalty, Malkana, toll tax, sale tax, GST or other taxes imposed by the Government.	34.60	250.00	Rupees Two Hundred Fifty Only	Per Cubic metre	8650.00
2	Providing and laying mechanically mixed and vibrated plain cement concrete in open foundation for all type of structure complete of plain cement concrete nominal mix 1:5:10 (One cement : five sand : ten graded crushed/broken stone aggregate 20mm (twenty millimeter) nominal size including curing complete in parapets and the like etcetera including the cost of form work as per drawing and M.O.R.D technical specification clause 802, 803, 1202 and 1203 as per the direction of Engineer-in-charge including carriage of material within all leads and lifts and other incidental. The rate is including octroi, royalty, malkana,toll tax, GST or other taxes imposed by the Government	92.09	4000.00	Rupees Four Thousand Only	Per Cubic metre	368360.00
3	Providing and laying 100mm dia (One Hundred millimetre) diameter P.V.C. pipe weep holes in brick masonry/stone masonry plain/reinforced concrete abutment, wing wall, return wall and retaining/breast walls through the full width of the structures with slope of 1(V): 20 (H) (one vertical twenty horizontal) towards draining face complete as per drawing and M.O.R.D. technical specifications clause 709 and 1206.6 and as per the entire satisfaction and direction of Engineer- in-Charge including carriage of materials within all leads and lifts and other incidental. The rate is including octroi, royalty, Malkana, toll tax, GST or other taxes imposed by the Government.	39	250.00	Rupees Two Hundred Fifty Only	Each	9750.00

4	Construction of embankment for road way with approved materials from borrowpits , or other sources in layers of suitable thickness not exceeding 200mm (Two hundred milimeter) thick each layers and compacted with 80-100 (Eighty - Hundred) K.N static/ vibratory road roller to meet the requirement of table 300.1 and 300.2 of technical specifications to lines, grades, levels and cross sections as per Drawings or direction of the Engineer-in-Charge to Technical specification clause 301 and other relevant clauses including preparation of foundation for embankment in all kinds and classification of soils including saturated soil and dewatering/ bailing out of water where ever required including handling of material for construction of embankments within all leads and lifts. The rate shall include carriage of machineries, equipments, tools and materials and safety measures payment of all taxes, octroi, royalty, GST and other incidentals necessary to complete the work in all respects	58.36	220.00	Rupees Two Hundred Twenty Only	Each	12839.00
Total:-						399599.00
Quoted rates percentage in figures						
Quoted rates percentage in words						


 Executive Engineer
 Bhawarna Division
 HP PWD Bhawarna
 

Schedule of Quantity

Name of Work:- Construction of link road from Nanaon to Kandekha Matt Km 0/00 to 0/690. (SH:- Both side E/Wall in Km 0/245 to 0/246.50, Soling & CC Pavement in Km 0/220 to 0/387) (Deposit Work)

Estimated Cost :- Rs 4,96,283/-
Earnest Money :- Rs.10000/-
Time Limit :- Three Months

S. No	Description of Item	Quantity	Rate		Unit	Amount
			In figure	In Words		
1	Earth work in excavation for foundation of structure such as retaining walls, breast walls, culverts, drains and parapets etcetera in all type of classification of soil comprising of ordinary soil, ordinary rock, hard rock chiseling /wedging out rocks (Where blasting is prohibited) as per drawings and M.O.R.D. technical specification section 300 and 1600 as per direction of the Engineer- In – Charge including setting out, shoring and bracing , removal of stumps and other deleterious materials and disposal of materials upto any lead and upto any lift including dressing of sides and bottom and back filling in trenches with excavated suitable approved material to the original surface in layers not exceeding 150mm (one hundred fifty millimeter) compacted thickness of each layers including shoring and strutting and pumping and bailing out water (surface and sub soil water) upto any depth and any quantum of water including cleaning of slush which may arrise out during dewatering as per entire the satisfaction and the direction of Engineer-in-Charge Including carriage of materials within all leads, lifts and other incidental . The rate is including octroi, royalty, Malkana, toll tax, sale tax, GST or other taxes imposed by the Government.	1.52	250.00	Rupees Two Hundred Fifty Only	Per Cubic metre	380.00
2	Providing and laying cement concrete 1:5:10 (One cement isto five sand isto ten aggregate) graded crushed stone aggregate 40mm (forty millimeter) nominal size mechanically mixed and curing complete, excluding cost of form work in foundation and plinth as per approved specification and drawing including entire carriage of materials with in all leads, lifts and other incidentals, as per the direction and entire satisfaction of Engineer-In-Charge Rate is inclusive of toll tax, GST and any other taxes imposed by the government	3.66	4000.00	Rupees Four Thousand Only	Per Cubic metre	14640.00
3	Providing and laying 100mm dia (One Hundred millimetre) diameter P.V.C pipe weep holes in brick masonry/ stone masonry, plain/reinforced concrete abutment, wing wall, return wall and retaining/breast walls through the full width of the structures with slope of 1(V): 20 (H) (one vertical: twenty horizontal) towards draining face complete as per drawing and M.O.R.D. technical specifications clause 709 and 1206.6 and as per the entire satisfaction and direction of Engineer- in-Charge including carriage of materials within all leads and lifts and other incidental . The rate is including octroi, royalty, Malkana, toll tax, sale tax, GST or other taxes imposed by the Government.	2	250.00	Rupees Two Hundred Fifty Only	Each	500.00
4	Back filling with granular material behind abutments, wing walls, return walls complete and retaining walls complete as per drawing and MORD technical specifications clause 1203 and 1604 and as per the entire satisfaction and direction of Engineer-in-charge including carriage of material within all leads and lifts and other incidental. The rate is including of octroi, royalty, Malkana, toll tax, sale tax, GST or other taxes imposed by the Government.	0.77	700.00	Rupees Seven Hundred Only	Per Cubic metre	539.00
5	Preparation of sub grade by dressing to combor (Earth work for the cutting involved for sub grade to be paid for separately depending upon the classification of soil completed as per HP.PWD specifications as per directions of Engineer-in-charge. The rate is including octroi, royalty, Malkana, toll tax, sale tax, GST or other taxes imposed by the Government.	473.45	1.60	Rupees One And Paise Sixty Only	Per Square metre	758.00

	Consolidation of sub grade with road roller including making good the undulation etc. with earth or quarry soil etc. and rerolling the sub- grade completed as per HP.PWD specifications as per directions of Engineer-in-charge. The rate is including octroi, royalty, Malkana, toll tax, sale tax, GST or other taxes imposed by the Government.	473.45	3.40	Rupees Three And Paise Forty Only	Per Square metre	1610.00
7	Providing, laying, Soling 90 to 45mm (Ninety to forty five milimetre) nominal size Grading-1, spreading and compacting stone aggregates of specific sizes to water bound macadam specification including spreading in uniform thickness, hand packing, rolling with three wheel 80-100 Kn. Static roller in stages to proper grade and camber, applying and brooming, stone screening/ binding materials to fill-up the interstices of coarse aggregate, watering and compacting to the required density grading 1 as per technical specification Clasue 405 as per the direction of Engineer-in-Charge including carriage of material within all leads and lifts and other incidentals. The rate is including octroi, royalty, Malkana, toll tax, sale tax, GST or other taxes imposed by the Government.	43.84	1900.00	Rupees One Thousand Nine Hundred Only	Per Cubic metre	83296.00
8	Providing and laying mechanically mixed and vibrated plain cement concrete Grade- M-20 (M-Twenty) nominal mix 1:2:4 (one cement : two sand : four graded crushed stone aggregate 40mm (forty millimeter) nominal size in open foundation in flooring of catchpit as per drawing and M.O.R.D. technical specifications clause 802, 803, 1202 and 1203. including the cost of form work, curing complete and hauling of materials in all kinds of leads, lifts and other incidental and as per the entire satisfaction and directions of Engineer-in-Charge. The rate is including of octroi, royalty, Malkana, toll tax, sale tax or other taxes imposed by the Government.	65.76	6000.00	Rupees Six Thousand Only	Per Cubic metre	394560.00

Total :-

496283.00

	Quoted rates percentage in figures					
	Quoted rates percentage in words					

66/
Executive Engineer
Bhawarna Division
HP PWD Bhawarna

Schedule of Quantity

Name of Work:- Restoration of Rain damages on Naura Kiarwan road (SH:- C/o R/wall at RD 1/802 to 1/811.40) (Deposit work)

Estimated Cost :- Rs 2,54,511/-
Earnest Money :- Rs.5100/-
Time Limit :- Three Months

S. No	Description of Item	Quantity	Rate		Unit	Amount Rs.
			In figure	In Words		
1	Earth work in excavation for foundation of structure such as retaining walls, breast walls, culverts, drains and parapets etcetera in all type of classification of soil comprising of ordinary soil, ordinary rock, hard rock chiseling /wedging out rocks (Where blasting is prohibited) as per drawings and M.O.R.D. technical specification section 300 and 1600 as per direction of the Engineer- In – Charge including setting out, shoring and bracing , removal of stumps and other deleterious materials and disposal of materials upto any lead and upto any lift including dressing of sides and bottom and back filling in trenches with excavated suitable approved material to the original surface in layers not exceeding 150mm (one hundred fifty millimeter) compacted thickness of each layers including shoring and strutting and pumping and bailing out water (surface and sub soil water) upto any depth and any quantum of water including cleaning of slush which may arise out during dewatering as per entire the satisfaction and the direction of Engineer-in-Charge Including carriage of materials within all leads, lifts and other incidental . The rate is including octroi, royalty, Malkana, toll tax, sale tax, GST or other taxes imposed by the Government.	23.78	250.00	Rupees Two Hundred Fifty Only	Per Cubic metre	5945.00
2	Providing and laying mechanically mixed and vibrated plain cement concrete in open foundation for all type of structure complete of nominal mix 1:4:8 (One cement : four sand : eight graded crushed/ broken stone aggregate 40mm (forty millimetre) nominal size on ground or under water including curing complete and pumping or bailing out water, dewatering, removal of slush as required at site which may arise at the time of laying concrete complete for all heights/ depths including the cost of form work complete in all respect as per drawing and M.O.R.D. technical specification section 800, 900 and 1200 and as per the entire satisfaction and direction of the Engineer –in-Charge including carriage of materials within all lead, and lifts and other incidental . The rate is including octroi, royalty, Malkana toll tax, GST or other taxes imposed by the Government.	55.55	4200.00	Rupees Four Thousand Two Hundred Only	Per Cubic metre	233310.00
3	Providing and laying 100mm dia (One Hundred millimetre) diameter P.V.C. pipe weep holes in brick masonry/ stone masonry, plain/reinforced concrete abutment, wing wall, return wall and retaining/breast walls through the full width of the structures with slope of 1(V): 20 (H) (one vertical: twenty horizontal) towards draining face complete as per drawing and M.O.R.D. technical specifications clause 709 and 1206.6 and as per the entire satisfaction and direction of Engineer- in-Charge including carriage of materials within all leads and lifts and other incidental . The rate is including octroi, royalty, Malkana, toll tax, GST or other taxes imposed by the Government.	15	250.00	Rupees Two Hundred Fifty Only	Each	3750.00
4	Back filling with granular material behind abutments, wing walls, return walls complete and retaining walls complete as per drawing and MORD technical specifications clause 1203 and 1604 and as per the entire satisfaction and direction of Engineer-in-charge including carriage of material within all leads and lifts and other incidental. The rate is including of octroi, royalty, Malkana, toll tax, sale tax, GST or other taxes imposed by the Government.	15.32	700.00	Rupees Seven Hundred Only	Per Cubic metre	10724.00

5	Construction of embankment for road way with approved materials from borrowpits , or other sources in layers of suitable thickness not exceeding 200mm (Two hundred milimeter) thick each layers and compacted with 80-100 (Eighty - Hundred) K.N static/ vibratory road roller to meet the requirement of table 300.1 and 300.2 of technical specifications to lines, grades, levels and cross sections as per Drawings or direction of the Engineer-in-Charge to Technical specification clause 301 and other relevant clauses including preparation of foundation for embankment in all kinds and classification of soils including saturated soil and dewatering/ bailing out of water where ever required including handling of material for construction of embankments within all leads and lifts. The rate shall include carriage of machineries, equipments, tools and materials and safety measures payment of all taxes, octroi royalty, GST and other incidentals necessary to complete the work in all respects.	9.78	80.00	Rupees Eighty Only	Per Cubic metre	782.00
	Total :-					254511.00
	Quoted rates percentage in figures					
	Quoted rates percentage in words					


 Executive Engineer
 Bhawarna Division
 HP PWD Bhawarna